


A SAIAED

Hu: Al B2l L HL(FELXAHL/ LT AI)
el TAl 22l Y K (cHel: @)
SA - FM S (BH) - HRAY - BES 0l &b e HImS2
SAIHE D 99,782,535 56,752,785 43,029,750
= 7,136,250
= 68,286,011
= 24,360,274
TAl 22l Y NL(ZELTAHL/ T HL A 87,837,271 46,430,300 41,406,971
= 2,700,000
= 62,736,011
& 22,401,260
SAl 2el & XA 5,275,011 6,072,800 AT97,789
= 5,263,011
T 12,000
N HIstS 2t 95,000 94,700 300
= 95,000
201 LBH2IH| 1,000 1,000 0
Fay 1,000
01 Ar22teldl 1,000 1,000 0
O HE RS 1,000
= 1,000
202 Ol 24,000 23,700 300
7 24,000
01 =W 24,000 23,700 300
OMNgrMe7S HR=2 24,000
s 24,000
207 HFIHEH] 70,000 70,000 0
= 70,000
01 AEH| 70,000 70,000 0
OMNEHE TS SSAE H=ES 70,000
= 70,000
g HME S 2el XA 68,000 66,200 1,800
= 68,000
308 AXISXSOINM 68,000 66,200 1,800
iy 68,000
01 AXSHHBNELZ 68,000 66,200 1,800
OHEHE+S 22| XA 68,000
= 68,000
IHEHIE S =CIXIRALS 5,100,011 5,900,000 AT799,989
= 5,100,011
403 MXIHMSAHE01H 5,100,011 5,900,000 AT799,989
2 5,100,011
01 IXISHMAE2EE 5,100,011 5,900,000 A799,989
OMgrME S =QIXIJA 5,100,011
= 5,100,011
A2 SAHESAITHAEMAEHT] @S SR HAS 5,000 5,000 0
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SN

SAIA=

BE: CAl 22l Y HL(BELXIEHL/NHLETAI
Chelr SADHE (el &)
S - - SRIEH) - MIRAR - BaS e e HImE2
OZ® &3 TAHEER W& 250,000
OZ 4= H0SYAL 7l TAAHEECZ WL 190,000
OYULHIA-LI-FSE=IME SAIHECZ (4
Zu) JHe 190,000
O=IZ ZAHEZZ(E523-302) He 190,000
O824zl JY=2(S21-14, 221-10254)
He 190,000
O23 HUHZANEZ2(A3-1598d) WA 200,000
OFHESKF HZEZ2 N4 250,000
028 ZAANEEZ(S21-18) FH J128d
esda] 380,000
OZY TAHEEZ(AR2-5, 3-75) JHA 190,000
OZ= TAHEEZ2(A22-168) W& 190,000
OFEZAHEEE 22-405 M- 190,000
OEXEZAIHEER A2-505 JHE 190,000
O==EAHel SAHEE2(H23-25) EHI 190,000
O3 EAZ~EAZ 2 2 (A22-235) JHd 190,000
OgH~Ee|uXE2t TAIHEEZ &F 190,000
Ot WLl 72t TAIHE=Z JHL 190,000
OHIIZ2E ZAIHEEZ2(AZ3-105) HE 190,000
O WS~EIAPTZE SAIHEEZ JHE 190,000
OANE EAANECZ(2-45) bl 190,000
OloE ZAIHEEZ(1-415) W& 190,000
O3d ZAHENEEZ(223-16, 2-55) M4 380,000
OtiEe| RIET2(E521-45) M4 350,000
OF2l(L2-778) SAHEEZE L 190,000
OFBE(A3-53) TAHEEZ HE 190,000
o022 SHAEFEAS S KA 2,700,000 500,000 2,200,000
= 2,700,000
403 HXISMSA=0l1A 2,700,000 500,000 2,200,000
= 2,700,000
01 XIS =2 xR 2,700,000 500,000 2,200,000
OFetllz2 S0 FHIS S NAAL 2,700,000
= 2,700,000
SADHE 2EXH 33,100 29,500 3,600
201 Yt et| 1,800 2,000 200
01 AtR2t2|H 1,800 2,000 2200
Ogtt+=EH] 1,800
202 04l 7,200 8,000 2800
01 2] 7,200 8,000 A800
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S A

SAIA=

. Al 22| Y O (2EL XL/ XSL Al
Gl SAIDNE (G2 &)
_ _ NEC —
2 -2 H2A(ZAH) - NRAY - BHES 04| At 'Oﬂ,‘qou Hins2
OZADNE AFY =& 7,200
203 HRF=EY| 24,100 19,500 4,600
03 AIBFRHLRE=EIY| 24,100 19,500 4,600
O AN AF AIRHE=EI 24,100
CAIZESE XS IHEAS 3,198,160 6,216,000 A3,017,840
g 3,182,000
= 16, 160
TAIMEEIZIN S AL 3,137,000 5,975,000 2,838,000
g 3,137,000
403 AXIHMSAH=20| & 3,137,000 5,975,000 2,838,000
rag 3,137,000
01 AIXIHM =22 3,137,000 5,975,000 A\2,838,000
O#=so|7 ot=))| 1,329,000
= 1,329,000
OBlossom" 04 &+" 873,000
iy 873,000
OXIAES MEAH 195,000
e 195,000
OXEAMS HIEZAl EESEAS 740,000
iy 740,000
KA HLSIALY 45,000 229,000 184,000
g 45,000
403 XrXIHMSAH=01 A 45,000 229,000 A\ 184,000
g 45,000
01 AXISHHA=EE 45,000 229,000 A\ 184,000
Oootsstn 2¢9 45,000
g 45,000
SAZESAXGHLAIE 2HXH 16, 160 12,000 4,160
201 Let2HH| 3,960 2,000 1,960
01 AtR22teld| 3,960 2,000 1,960
OgBt=2H| 3,960
202 48l 7,200 6,000 1,200
01 =LHMHI 7,200 6,000 1,200
OZAIEE AY =& 7,200
203 YR FXY| 5,000 4,000 1,000
03 AIBFRHRF=EIY| 5,000 4,000 1,000
OEANZESEXSINLAIY 2ted A=A 5,000
C AR A AL 63,423,000 20,312,000 43,111,000
rag 51,211,000
& 12,212,000
SAITHA M XS AL 3,080,000 4,312,000 A1,232,000
Fas 2,369,000
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S A

X XH -
o= -

SAIA=
TAl 2] & N (REXXHIHL /X

0

L

IS Al

SHol: TAITHAIARYS (Sr9: &)
- _ _ S
A - ZH - SRA(ZH) - MFAY - BES Ol &bt 01l ko HnS2
= 777,000
403 TXISHHSKH=01 & 3,080,000 4,312,000 ~1,232,000
= 2,369,000
= 711,000
01 AXSHEEE 3,080,000 4,312,000 A1,232,000
OJI0KREHeH HIHSSt A5t 251 0F 2dH 3,080,000
= 2,369,000
= 711,000
SAIMA SEA 58,611,000 15,400,000 43,211,000
= 48,842,000
= 9,769,000
403 TXISHHSKHZ01E 58,611,000 15,400,000 43,211,000
= 48,842,000
= 9,769,000
01 RXSHERE 58,611,000 15,400,000 43,211,000
OIS [SEIp] 4,680,000
2 3,900,000
< 780,000
O=ENXXI 8,728,000
=) 7,273,000
= 1,455,000
SEIEE=CTE 9,189,000
= 7,657,000
= 1,532,000
OFAAIIXE 26,958,000
7 22,465,000
= 4,493,000
OFHIEre 9,056,000
= 7,547,000
= 1,509,000
A SAMY =2 AELEQIAY 1,500,000 600,000 900,000
403 TXISHHSKH=0IE 1,500,000 600,000 900,000
01 AXSHNERE 1,500,000 600,000 900,000
O TAMY =2 ABEA 1,500,000
ANLE SATHATIRNE 2 232,000 0 232,000
308 RXISHHISOIH 232,000 0 232,000
10 B HSOIHE B AR ASAISH] 232,000 0 232,000
OAMHE TATMME 2 232,000
ADIEAIEl ZSAIS 428,000 0 428,000
ADIEAIEI SEEAE I REAIY 360,000 0 360,000
403 TXISHHSKH=01 & 360,000 0 360,000
01 AXSHNERE 360,000 0 360,000
OADIENEl SBBHE JIBRSAIY 360,000
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SH: SAHED
B2 ZAl 22| Y OHS(IELINL/ KL EA)
A

B2l ADIEAIEl Z&A (cHel &Ee)
. i o PSIEL =
A - ZH - SR(3H) - MRAY - BYS Ofl &b oK 01l ko HlwE2

EIOH S3IEHX DIAEZH SEXIRAIY 68,000 0 68,000

403 XX|SHH SXH20| & 68,000 0 68,000

01 ARSHREEE 68.000 0 68,000
OHIOHE S35l DIAHEZH =X 68,000

AHUCH T U SY(IEUXIHINY/AJEHX]) 11,735,028 10,098,635 1,636,393
=2 4,436,250
z 5,550,000
=3 1,748,778

SZC A 2,142,858 1,014,285 1,128,573
z 2,050,000
= 9,858

STCA 24 2 WEH A 2,142,858 1,014,285 1,128,573
z 2,050,000
= 92,858

403 XXISHH SXH20| & 2,142,858 1,014,285 1,128,573
z 2,050,000
=3 92,858

01 ARSHREEE 2,142,858 1,014,285 1,128,573
Os2EX =4 2 WEH XA 2,142,858
z 2,050,000
= 92,858

XIArACHR] X2 9,592, 170 9,084,350 507,820
=2 4,436,250
z 3,500,000
& 1,655,920

QAFQUBHAIEE THAA 3,250,000 0 3,250,000
2 2,500,000
= 750,000

403 XIS SXH20| & 3,250,000 0 3,250,000
2 2,500,000
= 750,000

01 AR IEEE 3,250,000 0 3,250,000
OforBrAREE THAAL 3,250,000
2 2,500,000
= 750,000

AU PRMATHT] HAXAMEH AFA 1,436,250 1,436,250 0
2 1,436,250

403 XIS SXH20I & 1,436,250 1,436,250 0
=2 1,436,250

01 XIXISHX2Ex 1,436,250 1,436,250 0
Ot BHAATHA] SHAIXIRME FAEAE 1,436,250
2 1,436,250

XAt 3P8+T ALK 3,500,000 6.936.,000 /3,436,000
z 3,500,000
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S SAE D
B MUC| EH W 2N (IER XX/ ML)

o9l XYAACK K (S5l =E)
- _ _ S
SA - M G2(SH) - HIRAY - BES Off &F2H 01l ko Hns2
403 TXISHIS XH20| & 3,500,000 6,936,000 3,436,000
2 3,500,000
01 XIS RF=EE 3,500,000 6,936,000 A3.,436,000
OXILAACHT DUBLT ALK 3,500,000
= 3,500,000
TIZHAICHT] KA 65,920 62,100 3,820
201 YLer2| 34,020 33,800 220
01 Al 22| 34,020 33,800 220
OLst=gH| 11,250
O2gag 22,770
202 01t 23,400 20,000 3,400
01 =LHoi| 23,400 20,000 3,400
OlrIEHT 2t QR X 23,400
203 YREZIY| 8,500 8,300 200
03 NEEZLSETY| 8,500 8,300 200
OMFIEHT 2t QX 8,500
HRARIAACH] THAALS 650,000 0 650,000
= 500,000
= 150,000
403 THXISHHIS XH=0I & 650,000 0 650,000
= 500,000
= 150,000
R E ECES 650,000 0 650,000
OEARIIAACHT] THAAIY 650,000
=2 500,000
= 150,000
A AOIE AQIEHT DB X4 690,000 0 690,000
403 THXISHHIS XH=0| & 690,000 0 690,000
R ECES 690,000 0 690,000
OALE AQIE MRS Jloh X4 690,000
™ 22| (TAIHE D) (OIEHIIEH 210,236 223,850 A13,614
o= 2| 210,236 223,850 A13,614
I 210,236 223,850 ~13,614
201 LEr2| 141,236 152,350 11,114
01 AF= 22| 128,831 139,945 A11, 114
OLut=gH| 32,351
ozl 24,480
O2gag 72,000
02 22| 12,405 12,405 0
OZ2R2 ¥ A 12,405
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S A

SAIA=

M AY2SIHI(TAIAR D) (DIEHIIEL)
el D=3l (el &)
S - - SRIEH) - MIRAR - BaS e e HImE2
202 04l 29,700 32,500 2,800
01 =LHOHI 29,700 32,500 A2,800
ORAMESSERFT 29,700
203 gF =& 11,100 10,800 300
01 J|Z2gg 24| 6,000 6,000 0
Oo=& 6,000
04 FEXZEHRFAI 5,100 4,800 300
OZAIHE Y 23 5,100
204 2R+ HH| 28,200 28,200 0
01 A S LR+ 28,200 28,200 0
o=& 7,200
OLE, = 21,000
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SN AED
B EHMEBI(MESR/ I ENERE)
SERESIE (Sl &8
. i - PSEL =
A - ZH - SRA(ZH) - MFAY - BES Ofl &b oK 01l ko HnS2
A= 81,999,062 84,047,473 A2,048,411
= 63,947,368
Pl 10,936,644
= 7,115,050
S N E EP N BIESTET=EN) 68,798,500 66,037,427 2,761,082
= 63,757,368
= 5,041,141
=20 68,798,509 66,037,427 2,761,082
= 63,757,368
S 5,041,141
F=H=N 68,798,509 66,037,427 2,761,082
= 63,757,368
= 5,041, 141
308 XHXIEHHISOIE 68,798,509 66,037,427 2,761,082
= 63,757,368
S 5,041,141
01 XX HHBLEES 68,798,509 66,037,427 2,761,082
OFNHZS: 68,798,509
= 63,757,368
== 5,041,141
S RIES SN E W EESTESEY 247,000 264,290 A17,290
2 190,000
== 57,000
ZoHel =1Ee| &l 247,000 264,290 A17,290
= 190,000
= 57,000
SUHE Z0HQ FEHIHZALY 247,000 264,290 A17,290
2 190,000
= 57,000
403 RIS K20 E 247,000 264,290 A17,290
= 190,000
S 57,000
01 AXIHHZEL 247,000 264,290 A17,290
OS0i&E ZoHel FEIHEAY 247,000
= 190,000
= 57,000
FHEZNE (ALSISXI/F=64) 12,560,223 17,219,767 N\4,659,544
Il 10,936,644
= 1,623,579
SEAKEF=HEZNA 11,530,444 16,406,736 A4,876,292
Il 10,936,644
= 593,800
MASHE FUHESS AH 200,000 200,000 0
501 EXt= 200,000 200,000 0
01 2ItEX= 200,000 200,000 0
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N (AL RI/3=EH)
HEFHeZHA (el &)
S - I SR(S) - AIRAR - BAS I Cva] il mE2t
403 AXIEHHSAH=0IE 107,250 107,250 0
01 AXHHAG=E L 107,250 107,250 0
s0E elEE| 107,250
S =g =8 NSHE 219,420 219,420 0
403 AXIEHHSAH=01E 219,420 219,420 0
01 HRIHHAZE X 219,420 219,420 0
CE2Y Fe X2HY 219,420
HEFHEZMNEAIY 238 14,550 15,900 A1,350
202 04l 12,150 13,500 A1,350
01 =LHOHI 12,150 13,500 1,350
OsHEFHEZMNEAIY =8 12,150
203 BR=&H| 2,400 2,400 0
03 A=A R =L 2,400 2,400 0
OsHEFHSIMEAIY =8 2,400
0] Lis FEAY 150,000 150,000 0
403 XXM SAH=01H 150,000 150,000 0
01 AXHHZEL 150,000 150,000 0
OU=0l Us =% At 150,000
AFUE B L 2 467,114 223,016 244,098
CPTEDI Y =8 oty =32 &8 At 100,000 100,000 0
403 AXIEHHSAH=0IE 100,000 100,000 0
01 MHRIHHA=ZE X 100,000 100,000 0
OCPTEDI 1Y &8 oty =32 &¥ 100,000
ARSRE A3z HAl 5,000 5,000 0
201 k=& 5,000 5,000 0
03 &A=& 5,000 5,000 0
OA=SFE A3S M= 5,000
ARESIAIE =T 50,000 50,000 0
307 izl 50,000 50,000 0
04 QIZFHAIANIHE X 50,000 50,000 0
OA=F=2aAg =& 50,000
g 2xd=S Al 10,324 10,760 A436
201 ZetEg| 10,324 10,760 YaV/CH]
01 At22teld] 10,324 10,760 NA36
O+ ISl M= 3,924
OR4zel MT L MAINY M 6,400
FEAF2HII 51,790 57,256 N5, 466
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BE: EHBAWM(MEI=X /)
Rl FEAsSY EoF & 2 (el &)
S - - SRIEH) - MIRAR - BaS e e HImE2
201 k=& 30,290 33,656 A3,366
01 At22teld] 30,290 33,656 A3, 366
OgEt+=ZH] 6,530
o= 19,440
O=1=1:] 4,320
202 04l 18,900 21,000 22,100
01 =LHAHI 18,900 21,000 A2,100
OFAH=XER =& 18,900
203 R =&l 2,600 2,600 0
03 AIHFAIHIR Y| 2,600 2,600 0
OFAN=AER =4 2,600
29 A |IZ2AHE =8 250,000 0 250,000
207 AN 250,000 0 250,000
01 A= 250,000 0 250,000
o9 A=) =8 250,000
CIXRl E#ETAl =& (2ELXAML /XL ZAI) 346,620 474,800 128,180
CAIES 346,620 474,800 128,180
Z2tAL 210,000 300,000 /90,000
403 AXIHHSAH=01E 210,000 300,000 290,000
01 HRIHHZE X 210,000 300,000 290,000
OZ A 210,000
2HH0| OFSCHE Hel &4 84,000 120,000 236,000
403 A XIEHHSAH=0IH 84,000 120,000 236,000
01 AUXISHH2EE 84,000 120,000 236,000
O2tetol OFSthE Hel =4 84,000
daagr SNy X3 30,000 30,000 0
307 gzl 30,000 30,000 0
04 QIZIHAIMHE LS 30,000 30,000 0
OZ&Er SAZUad izl 30,000
SAIE2 XE Eh| 22,620 24,800 22,180
201 ZetE2g| 11,520 12,800 1,280
01 At=2teld 11,520 12,800 1,280
Ogtt+=EH] 3,240
Oo=2g=g 5,400
O=etl 2,880
202 Ol 8,100 9,000 2900
01 =LHALI 8,100 9,000 A900
OZ& ge=d 8,100
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Hlw

3,766,000

H3r
uilEd
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3,034,000
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6,800,000

70
ml

- SR(BIAH) - MSRAS -

L

A

iy
iyl

JI R

0J
[

+

01 Xt

2940
A200
A200
NT40
NT740
2,000
2,000
N2,760
A2,400
A2,400
A360
A360

266,000
268,000
268,000

15,000
15,000
15,000
10,900
2,000
2,000
7,400
7,400
1,500
1,500
86,000
86,000
29,800
25,200
24,000
1,200
3,600
3,600
1,000
1,000

1,686,000
1,600,000
1,600,000

6,800,000
6,800,000
15,000
15,000
15,000
15,000
9,960
1,800
1,800
1,800
6,660
6,660
6,660
1,500
1,500
1,500
1,620,000
1,532,000
1,532,000
1,532,000
88,000
88,000
88,000
27,040
22,800
21,600
2,160
2,160
17,280
1,200
1,200
3,240
3,240
3,240
1,000
1,000
1,000
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Ardtl

AH=201A
OAl4 Ji2==H

F

01 At22teld]
01 =LHNOY

|
01 At22teld]
01 =LHAOH

307 212401
307 212+0IA

202 Oid|
202 04l




SA wES=Fh
Zal: M U2 DSHH PH(4SUDS/HEDS JIED
ol (ZRE 34 (el &)
S - I SR(S) - AIRAR - BAS I Cva] il mE2t
Hsus s4 27,951,144 16,651,000 11,300, 144
= 5,353,700
= 5,400,000
Il 1,644,000
< 15,553,444
sus SEAE 3| 14,267 14,900 B33
201 ZetEg| 2,507 2,000 507
01 At22teld 2,507 2,000 507
Olisus 54 g2 = 450
=&l 2,057
202 04l 10,260 11,400 A1,140
01 2] 10,260 11,400 1,140
Olisus S8N2 g2 =d 10,260
203 BR=LH| 1,500 1,500 0
03 A=A =L 1,500 1,500 0
Olisus S8NE AIH =4 1,500
HASH & Al 24 XA 134,000 111,000 23,000
201 £EH= g 14,000 11,000 3,000
02 E324H| 14,000 11,000 3,000
OZgizs MAEZ )8 R 14,000
207 A-1HE] 120,000 100,000 20,000
01 2= 120,000 100,000 20,000
OHAH BY=X24 XA 9 100,000
OFZLN2N Y = 8Y 20,000
AMU-sHEHA HE XA 5,000,000 5,000,000 0
308 AFXIEHHISOIE 5,000,000 5,000,000 0
01 HAHHBAEXS 5,000,000 5,000,000 0
OAU-sHEHAKM HE X 5,000,000
AMeIHA THE XA 4,400,000 8,000,000 3,600,000
307 glztold 4,400,000 8,000,000 3,600,000
09 2+HHEEXS 4,400,000 8,000,000 3,600,000
OAAHASH HE XIS 4,400,000
WS Ols#Ee Sa 7,350,000 675,000 6,675,000
= 4,900,000
s 2,450,000
403 AXIEHHSAH=0IE 7,350,000 675,000 6,675,000
= 4,900,000
< 2,450,000
INDN=ps PNt 7,350,000 675,000 6,675,000
OMattA 2H| K& 7,350,000
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2 nsS:n
M dA 2R NESHE FE (3L uS/USNS - ERSIIE)
=Pl sus 54 (el &)
S - EH - SR(H) - MTAR - B of e e imE=T
= 4,900,000
S 2,450,000
NafgiA 2gEa2as K 790,000 790,000 0
308 AXIEHHISOIH 790,000 790,000 0
01 HRHHBAEXS 790,000 790,000 0
OMatA 2g&d2d=s NE 790,000
SgusaH SHE 2gd] N2 1,356,502 993,600 362,902
307 gzl 1,356,502 993,600 362,902
05 eIZt?&= 1,356,502 993,600 362,902
OS2usS+t 24y 24! X2 1,356,502
SglSsH REEs S¥= & 70,000 70,000 0
308 AXIEHHISOIH 70,000 70,000 0
01 HRHHBAEXS 70,000 70,000 0
OSgusst Rz Sz N 70,000
SgussH g8l X2 60,000 0 60,000
= 60,000
403 MHRISHSA=01A 60,000 0 60,000
= 60,000
01 AXHH=EE 60,000 0 60,000
OSgus=+t g8l Xd 60,000
= 60,000
SgussH ==X WHXIZ 1,644,000 0 1,644,000
l 1,644,000
403 HXISHSA=01A 1,644,000 0 1,644,000
7l 1,644,000
01 MHRIHHA=ZE X 1,644,000 0 1,644,000
OSEUSst ==X uHM K& 1,644,000
Il 1,644,000
HaXNsSHSEX =l K& 350,000 400,000 A50,000
= 175,000
= 175,000
402 R12HXH=01 350,000 400,000 A50,000
= 175,000
= 175,000
02 QIRIXFEAIEE (01X THA) 350,000 400,000 A50,000
OHI&NSHSEA =4l X2 350,000
= 175,000
= 175,000
AIBA WSItE Salbl A& 96,500 96,500 0
307 glZhold 96,500 96,500 0
02 QI AAIEE X 96,500 96,500 0
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2M: WEEFL
M dA 2R NESHE FE (3L uS/USNS - ERSIIE)
ol (ENE |4 (el &e)
S - - SRIEH) - MIRAR - BaS e e HImE2
Od=3& WSt s4ldl K& 96,500
AIHA CHEIXHE X2 312,500 500,000 /187,500
402 R12tXH=01 312,500 500,000 A187,500
01 2L XH2AIL ER(XFHITHS) 312,500 500,000 187,500
OAIIHA THEIXHI X2 312,500
YT HAZHET SEAE 273,375 0 273,375
= 218,700
= 54,675
307 izl 273,375 0 273,375
2 218,700
= 54,675
02 QIHEAMSES 273,375 0 273,375
OZ&EE HARER 2 273,375
2 218,700
S 54,675
Hsus 95 4243 K& 700,000 0 700,000
308 AXIHHMSOIA 700,000 0 700,000
01 XX HHBLELRS 700,000 0 700,000
Olisus Z9atseol =d2d=s N3 700,000
CAE nS2E SSE HAMY X2 2,400,000 0 2,400,000
s 2,400,000
308 AAIHHSOIH 2,400,000 0 2,400,000
2 2,400,000
01 XX HHBLELES 2,400,000 0 2,400,000
OZAIY NS2Y 33 HAAMY X 2,400,000
= 2,400,000
SZEE WSZE HAE A N 3,000,000 0 3,000,000
= 3,000,000
308 AHXIEHISOIE 3,000,000 0 3,000,000
2 3,000,000
01 IXHHESE LS 3,000,000 0 3,000,000
OsZg wS2g HAE Al XE 3,000,000
= 3,000,000
XEHXNS WE 2E 4,774,290 4,146,479 627,811
= 576,430
= 832,000
= 3,365,860
AHEAXS 1S 2838l 10,860 11,900 1,040
201 fEh=2 g 1,800 2,000 A200
01 At=2teld] 1,800 2,000 A200
O=etl 1,800
202 O 7,560 8,400 AB40
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2M: WEEFL

A dE 2R NS FE(+~SXUS/UHSRS - 2RSIIE
A
-/

Sl QXEXXY NE 2 (el &)
A - ZB . GRI(3) - HRAY - BYS Ol Akt e HImE2
01 =LHOAYI 7,560 8,400 AB40
O2AEIIXSE nEs2d ALFA 7,560
203 FLF&| 1,500 1,500 0
03 AIBZ=RIARZ=AIH| 1,500 1,500 0
OLLAEXIXS WS2Y Al =& 1,500
AT A AL X2 432,900 608,400 A175,500
= 432,900
308 KtXISHHISOIH 432,900 608,400 A175,500
2 432,900
01 UtXIEHBAEES 432,900 608,400 A175,500
OHAIZ XIS &AL XI& 432,900
= 432,900
BAIRS JIEZH =8 XA 1,250,000 500,000 750,000
308 XXIEHHSOIH 1,250,000 500,000 750,000
01 HXEHEHEExS 1,250,000 500,000 750,000
OEAIRZ IIEZM =2 K& 1,250,000
EHAl X198 S AEiEZAL 298| X 143,530 0 143,530
= 143,530
308 AHXIHHMISO0IH 143,530 0 143,530
2 143,530
01 HXEHBAEExS 143,530 0 143,530
OEIAl XI9g8 S AMEEZAL 9 143,530
= 143,530
Hid =a8ag X2 1,200,000 1,200,000 0
308 AHXISHHMISO0I& 1,200,000 1,200,000 0
01 IXSHHBLEERS 1,200,000 1,200,000 0
OHEAlLd EABaz X3 1,200,000
Sl NSEIA 1R XA 130,000 125,000 5,000
308 AHXISHHMISO0IH 130,000 125,000 5,000
01 UHXIEHBAEES 130,000 125,000 5,000
OIS WSE LA QIR 130,000
BSelE "Al § 2% NA(sE) 1,139,000 1,025,000 114,000
s 500,000
= 639,000
308 KtXISHHISOIH 1,139,000 1,025,000 114,000
s 500,000
< 639,000
01 IXSHBLEERS 1,139,000 1,025,000 114,000
OBZIE Al & 2% 2 (=s=8) 1,139,000
P 500,000
= 639,000
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SA wES=Fh
M A LR NESHE FE (3L uS/USNS - ERSIIE)
©9l: XXX DE 2Y (EHol: H)
s . . Sl =
SA - B S9I(SH) - MIRAY - BAS Ofl sty G aton HIDS2
SetE 8Al & 2 NJ(ZAE) 465,000 525,000 260,000
= 332,000
= 133,000
308 AXIEHHISOIH 465,000 525,000 60,000
= 332,000
[ 133,000
01 HAHHBSEXS 465,000 525,000 260,000
OEete =il & 28 N (ZAIE) 465,000
[ 332,000
= 133,000
Set2EAl 2EIT ALY 2 3,000 0 3,000
201 L2 3,000 0 3,000
02 5244 3,000 0 3,000
OECtZEHAl 2AAE WS &5 3,000
X 2 o2 SEAME XIE 10,434,446 13,582,500 A3,148,054
= 1,684,066
[ 6,800,000
= 1,950,380
oM & SIESSME 28 Zdl 24,390 27,100 A2,710
201 £Eh=gH| 10,710 11,900 A1,190
01 At=2teld 10,710 11,900 A1,190
OgEt+=EZH| 8,820
O=etl 1,890
202 O 13,680 15,200 1,520
01 U0l 13,680 15,200 1,520
0012 & st=25AEY 257 =X 13,680
St=ASA SN ZEAIE 8,024,000 11,976,000 3,952,000
= 6,800,000
= 1,224,000
403 AXISHHSAH=201E 8,024,000 11,976,000 A3,952,000
o 6,800,000
= 1,224,000
01 AXHHAG=E L 8,024,000 11,976,000 3,952,000
Ozt=Asxt SEXIA ¢S 8,024,000
= 6,800,000
S 1,224,000
AEE X NU=Z01€B DS Z NJAL 2,175,290 1,549,400 625,890
= 1,673,300
= 501,990
403 AXIEHHSAH=Z01E 2,175,290 1,549,400 625,890
= 1,673,300
[ 501,990
01 AXHH=E L 2,175,290 1,549,400 625,890
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R

4,679
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4,200
4,200

=
o

<]

2,592

1,800
8,640
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2A: EXEE
T golHel EXMY 7
ool ERlEHoR= EXYE Chel ®MEA)
S - B C2I(5]H) - MISA - B Abod Cva] HImE2
EXNEED 4,312,261 3,998,400 313,861
= 3,337,018
< 975,243
oMo EXSE 78 (=E 4,273,681 3,956,000 317,681
= 3,337,018
T 936,663
ColEHoIRIF EXHE 98,421 79,020 19,401
= 74,478
T 23,943
SoHoRF EXHEE 23,943 25,670 AN1,T27
201 Let2Z| 13,123 13,870 NTAT
01 AtR2telt| 6,723 7,470 NTAT
OYrgH| 4,473
O2d=4 2,250
02 S=23| 6,400 6,400 0
o333 ¥ 4,800
OXNEZ=SZA HH&h SHISI| 1,600
202 Odd| 8,820 9,800 A980
01 =LHOHI 8,820 9,800 A980
OEXNSE 24 8,820
203 AR F=&IH| 2,000 2,000 0
P EESSEEES 2,000 2,000 0
OZoIHo = 2,000
XE22(AY) 7,448 4,850 2,598
= 7,448
202 Ot 7,448 4,850 2,598
= 7,448
01 =W Y| 7,448 4,850 2,598
OXIF2te| 7,448
= 7,448
X=22|(XIA) 67,030 48,500 18,530
= 67,030
308 AXISHHMSOIA 67,030 48,500 18,530
= 67,030
01 IXSHABLERS 67,030 48,500 18,530
OXIE2te| 67,030
= 67,030
PNESPNEIN; 1,427,130 1,549,812 A122,682
= 1,140,000
o= 287,130
K ETHEAALE =& 1,140,000 1,261,112 A121,112
= 1,140,000
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A EXNEED
Zal: BolHol EXNSE PH(IEUKIAINL/XALTAI
el NIETHEAL (el &)
S - - SRIEH) - MIRAR - BaS e e HImE2
308 AXIEHISOIE 1,140,000 1,261,112 A121,112
= 1,140,000
01 HXIHHB A E2ES 1,140,000 1,261,112 A121,112
OXIEMZEAAY =& 1,140,000
= 1,140,000
NIAIS KA FEHEAY 267,000 267,000 0
201 k=& 267,000 267,000 0
01 Ar2t2|H 267,000 267,000 0
OXNHIIEE HASXH detE 267,000
KNETHEAL 2N 16,130 17,700 21,570
201 k=& 5,130 5,700 A570
01 At=2teld 5,130 5,700 A570
Oget+=EZH| 2,880
Oo=2g=+¢ 2,250
202 04l 9,000 10,000 1,000
01 =LHOHI 9,000 10,000 1,000
OXETHEA PRFE 9,000
203 BR=LH 2,000 2,000 0
03 A=A R = 2,000 2,000 0
OXETHEA HE2FH 2,000
RRISIIN(EE)EE ArE 22 4,000 4,000 0
201 fEH=2 & 4,000 4,000 0
02 5234 4,000 4,000 0
ORQEBINEE)FE ALY RAI2L 4,000
NEZEs =8 99,400 141,250 241,850
Seeiet BHFFAIAN(NESR) 2F A 88,000 126,000 238,000
308 AXIEHISOIH 88,000 126,000 38,000
10 SI12S0IU B S HAEAIZYI 88,000 0 88,000
O=sgelet dFIFAFA(NESR) =8 At
=2l 88,000
ANHELs 2N 11,400 15,250 A3,850
201 k=& 1,800 4,750 A2,950
01 AtR2t2|H 1,800 2,000 A200
OgEt=EZH] 1,800
202 04l 8,100 9,000 A900
01 =LHOHI 8,100 9,000 2900
OXNHEEs JRF 8,100
203 BR=LH 1,500 1,500 0
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2A: EXEE
M grelNol EXME RS (ZELXGMNL /XL AI)
&el: NZFZ3 F=H CERE)
= XNXH . Ct2l( S = HAS2 OH @Li'—":— =2}
03 Al Z=RIHRZ=AIH| 1,500 1,500 0
OXNEELS =& 1,500
EXHE a4 =& 1,290,770 1,291,739 2969
= 1,263,540
== 27,230
IMEBAIXIIE ZAHEE) 24,000 24,000 0
= 12,000
< 12,000
201 2| 4,000 4,000 0
= 2,000
& 2,000
01 AtR2elt| 4,000 4,000 0
OMESAIXIL HRFE 4,000
= 2,000
= 2,000
202 0441 20,000 20,000 0
= 10,000
T 10,000
01 =LHOAHI 20,000 20,000 0
OMESAIXIL HRFE 20,000
= 10,000
== 10,000
INEBAIXIIE ZAHKIE) 1,251,540 1,251,539 1
= 1,251,540
308 AHXISHXMISO0IH 1,251,540 1,251,539 1
= 1,251,540
01 IXSHBLEERSF 1,251,540 1,251,539 1
OMESAIXIIL ZEAL 1,251,540
= 1,251,540
EXNHEAHR /3 5,000 5,000 0
201 LBH23| 5,000 5,000 0
03 HArZ I 5,000 5,000 0
OCEXNHEAR HAL 5,000
EXNSE 243t 2SN 10,230 11,200 A970
201 LBEH23| 3,150 3,500 A350
01 At22t2ld| 3,150 3,500 A350
Ogt==H| 3,150
202 0441 5,580 6,200 2620
01 =LHOAHI 5,580 6,200 2620
OEXNHE 43t JRFX 5,580
203 AR F=&IH| 1,500 1,500 0
03 AR FRIH R FEIH| 1,500 1,500 0
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S A

EXZEE

Zal: BlolHol EXSE PH(IEUKIAINL/XALTAI
ool EXHE 2843 F& (& A&)
SA - FM S (BH) - HRAY - BES 0l &b e HImS2
\ \ OEXg#Y 243t =& 1,500
AXNEE Hatgt 1,357,960 894,179 463,781
= 859,000
T 498,960
T2Y I ASES FOHAMS 215,740 228,418 A12,678
308 XXX S0IH 15,740 13,418 2,322
10 SO 2SS A ELAEAIS Y] 15,740 13,418 2,322
O2IIF=AHBAIAE(KAIS) SXE% 15,740
403 AXIHMSAHE01H 200,000 215,000 15,000
01 AXISHMA2EE 200,000 215,000 215,000
O 2| Z29:2 CHHAIAZE 4X & X
=E 200,000
T2Y I ASES SSAMH 21,000 30,000 A9,000
201 23| 21,000 30,000 A9,000
01 Ar2t2ldl 21,000 30,000 A9,000
OZ=2F Y A0S =M 88 S 21,000
S2Y=AD|=2E AT ALY 52,020 27,761 24,259
308 AXISHXMSOIA 52,020 27,761 24,259
10 71 2SSt Z A ELAEFAISY 52,020 27,761 24,259
OE2ZEF=A) =5 Sdst At 52,020
=SIHAESHS T X 22 AM 20,000 20,000 0
403 AXIHMSAHE0]H 20,000 20,000 0
01 AXIHMAE2EE 20,000 20,000 0
O=ItX&EHSTE AX| AtH 20,000
KStAIE=SEASE BX 1,031,000 540,000 491,000
= 859,000
T 172,000
4038 XXM SKH=01M 1,031,000 540,000 491,000
= 859,000
< 172,000
01 AXIHMAEES 1,031,000 540,000 491,000
OXIBIAILE FArBIAS 1,081,000
= 859,000
< 172,000
AAXNELE Hotgt 2EXE 18,200 20,000 1,800
201 23| 5,220 5,800 AB80
01 At2teldl 5,220 5,800 A580
Ogtt=2H| 2,700
Oo2g=¢ 2,520
202 441 10,980 12,200 A1,220
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S A

EXZEE

M B2lXol EXHY DH(IELXIAHL/SLEA)
el AXFE FAs (EHol: H)
SA - FM S (BH) - HRAY - BES 0l &b e HImS2
01 2] 10,980 12,200 1,220
OFXTE HME YREX 10,980
203 HRF&| 2,000 2,000 0
03 A=A ARLFAIH| 2,000 2,000 0
OAXZE FAE S 2,000
#H2SAY(EXNF L) (OIEHIIE 38,560 42,400 3,820
Jl=& 38,580 42,400 23,820
Jl=&H] 38,580 42,400 23,820
201 B2 21,780 24,200 A2,420
01 At2teld] 21,780 24,200 N2,420
Oger+gH| 3,780
oYxE 4,320
O=gt] 13,680
202 04| 12,600 14,000 A1,400
01 2L 12,600 14,000 A1,400
LRSS 12,600
203 FFF=&| 4,200 4,200 0
04 FXN2ELRFAHI 4,200 4,200 0
OEXNZED 29 4,200
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